H & 0l & AHS B Ml A

0H
i’
oF
uJ

S o]
S © 218|188 388
@D — 1
. : g N|R|® | S|n|n mm mmm 0|3 83 S8 Slsls
w0 E-T - 1 Rl Al A 1 e A et B A 1 I N Y
Ko | o R R R R R R R IR << 3| 5| =
CI q < gl <]
D < <
S @ o lo
< % = EIEIE |BIB |B|BB 5888 g8 2128
- |2 S o2 © | |m | w sl | e =3 =] D3|
Har | = i e SN — |- o |g|e
w2 | = ! S|
RIS - -
B RIBS S|SB 8|38(8
T 2RSS 88|88 g2(8|8|8 8818 2|82 8 8 8|3 |8|8|8 E§|8|R
m 0 | © < | —|=|= —_ S B Y S RS BN IS Lo S Ol |HD|» mMMM“ m
,m%ﬁm%1 Sl=l- — T —lelgele o~ glalele 221 2gldle o
3 |~ ol < % . gle|e «
<
S
W= W=
o [od] of ol >3 2
10} = oL = —
g g 8 § @ 3 z @ R
or m % - &0 v fall) S m il
X0 oo} v} Rm % o) e = > |*Rw
) - LT 2 8 3 a, 3 :
. ™ g m% _ 8
Av D
ol H -% - R by b= %
< — Iy ol > =1
I v s - - o 5
= =X 80 - o WO = = fir
- b0 0 > a0 o 0 = 4l "
= - 0 = C % i o <+
(Y ﬁu_\ K i 5 _ - 20 i = 7 1l <k
2 ¥ I - .- A R :
- . b — = — | < X
ok i KO ~ |9 o = S L e = = H0
oy RO NEIER N EIE EES i - 5 RO
- a2 = |[FRa|= |z @@ T < o _ | o oK A
. o) 30| = _lmo|mn RO = 0 =2 = = I mixw|o|(oD _ =|z ™
= 80 o - 8 |n < = bl = = _ oD
_l I Slfe B & R |m B = 8|30 |glm W or & w|=< |8 | K D K| [%m K
0 W T o Ml W5 W 0|2 m_. @ M | =< |ak 0| & @_.._ I A T T
5 n = ol [< m/u_ o ol |< A S| A ool < = ok = m_m o H o |3 M Mz |oF W
X RD w=ls|a Sl=|Z Olals Olm|=|= O O O |=|%lZ]2 S T = T =
7w | & alsle S =S5 =lt|s|s © O
I+ e it |~ « | o |o NS 90110
. i0J LRy =) 3 I NIERES Sl IS
& Rl Rl n W | =
A H S

el

=




2A:

B YHE WD CR8Y PE(DSUSR/CR)
SRl E22X 2 A= 2 (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
ONIZEX 24 Zel Sgtaag
1,000,000 62 X 6,000
O&EOHIE S2HYEX PRtz
710,000 *163m° *6% 6,944
OARHOIW SIH4E
20,000& 102 200
305 Bia =S 70,000 100,000 230,000
01 eSS 70,000 100,000 30,000
ORYOISS HEHHS(E2)
5,000,000 142 X| 70,000
401 AlZHIZ S OHYI 200,000 1,200,000 1,000,000
01 A28l 200,000 1,200,000 1,000,000
OB AHI(LBEX 24) 200,000,000& 200,000
otMBE 2 H| 2,100 2,100 0
201 2egr=3| 2,100 2,100
01 At22t2ltl 2,100 2,100
Oz 22|y &4 =&
70,0002 x6H +53] 2,100
gt T2EANES ?lgt =2 8| 2,008,284 5,771,716 N\3,673,432
= 310,609
Al 1,787,675
WEAMD 22 N (HEALY) 429,218 82,000 347,218
=S 214,609
Al 214,609
401 AIEHIZ SR 0HYI 429,218 82,000 347,218
< 214,609
Al 214,609
01 Al&H| 429,218 82,000 347,218
O&E2AH~OI0IE & AtHEI wEALD &2
= HEA 319,708,000 319,708
= 159,854
Al 159,854
OZX221 & AtHel WEAL &2 i
At 109,510,000& 109,510
s 54,755
Al 54,755
ZAES otE 2 1,085,000 2,769,000 1,684,000
201 el 23,000 35,000 212,000
01 At22t2lt] 23,000 36,000 A12,000
OE=2AIE=E 87X 2 AIR22H]
10,000,000 10,000
Oz2RAEs FUISX 10,000,000 10,000
OEAFAAAS (ESTH)H 0elol=
3,000,000& 3,000
202 04| 2,000 4,000 A2,000




SA AL
M NG F2 L2EH AR (NSHEER/E2)
Chel: OtMEH CZ2AEE AT T2EH| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 2,000 4,000 /2,000
O=LHxHl 2,000,000& 2,000
401 Al HIX S0 1,060,000 2,730,000 21,670,000
01 AlZH| 1,060,000 2,730,000 A1,670,000
OJIZ2ZA & SEES 20,000,000 20,000
Ok% ng JUHNAEZ Sd(2td)
30,000,000& 30,000
OUEE1Z 0tAZ IM2I| DA
60,000,000 60,000
O2ZAE FXNE= 150,000,000 150,000
OSZAIES HEAR AAEHS
20,000,000& 20,000
OEZAEE BIIQHBAB
50,000,000 50,000
Oz gXE dd| 40,000,000& 40,000
OSolliiE S Xt T=MEB AL
150,000,000& 150,000
OlINEZ2 S XM BA}
150,000,000 150,000
OMEDIAM Y CRALE 23 24
80,000,000& 80,000
O28=Z 0tAZ TR SA
150,000,000 150,000
ONgoEEASe (22D, 2R0I2D)
90,000,000 90,000
OFUZ OtAZ HMRI| SAt
50,000,000& 50,000
OFIIEE A 20,000,000 20,000
A 2 2 158,000 530,000 A372,000
206 M=l 20,000 15,000 5,000
01 M= HI 20,000 15,000 5,000
Otz |RNES IR (FsE )
20,000,000 20,000
305 Hia =S 3,000 5,000 22,000
01 =S 3,000 5,000 A2,000
Ok=22d tiat= 3,000,000& 3,000
401 AIZHIX S0HH 135,000 510,000 A375,000
01 AlZ2H| 135,000 510,000 A375,000
OL=XE EHl & EXISA
15,000,000& 15,000
o222 B=HUISA 80,000,000 80,000
OUSHMALSZ L SA
20,000,000& 20,000
OFEFALE H2HEIEA oF 20,000,000 20,000
orMel C2AIES flgt =288 N3] 64,066 64,716 AB50
201 et 3| 62,566 62,716 A150




SA AL
M NG F2 L2EH AR (NSHEER/E2)
e OlEBH CRAIRES 93 Z2E| (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 43,750 9,300 34,450
ORBHAAL OFDR| (Ec22
1,250,000 x4 71 5,000
OE=Z &l AR2teld] 1,350,000 1,350
OSMEHE ks &J| ] otd 2|t
PN 200, 0002 %122 2,400
OH2AND HSH YRENS RN
cltl 25,000,000& 25,000
O=STHD HRIHOIE ZME4E
200,000 *2CH 400
O&tiw AeIHI0E RA2tel
9,600,000 9,600
2 352484l 18,816 53,416 A\34,600
O3YUR REXNS &II23
50,0002 123 600
OSLTEL AN HIAEE 23
8,000 x 122 %
O=TiD H2IHOIE HIIAEE
300,000& x20H 2% 123 7,200
O&%liu HHIOH 32
15,0003 +201 A+ 122 360
OgsH 4383 d|e=s
80,0003 #2012 x 128 1,920
ONSY+2MET #II23
100,000 x40 2% 123 4,800
OFQLd 2ANAY BBEH MEZ
320,000 * 122 3,840
202 048l 1,500 2,000 A500
01 2L AL 1,500 2,000 A500
O=LH0HI 1,500,000 1,500
Oelol 2579 e (HEAY) 192,000 0 192,000
[ 96,000
Al 96,000
401 AlEHIZL SO 192,000 0 192,000
= 96,000
Al 96,000
01 Al&HI 192,000 0 192,000
O2&xll & HelI2s+Y WA (FH])
192,000,000 192,000
= 96,000
Al 96,000
AEN0IE 243 At 170,000 20,000 150,000
401 Al HIZL R 0HbI 170,000 20,000 150,000
01 Al&HI 170,000 20,000 150,000
ONENEZ HHIAY 20,000,000 20,000




SA AL
M NG F2 L2EH AR (NSHEER/E2)
el otMSt E2AIESE flet =258 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZYAHZ-=ZEAI el HEAZZ
BIA 150,000, 0002 150,000
SAAEEZ OHE 1,366,880 3,757,080 A\2,390,200
= 30,000
Al 1,336,880
SAHEEZ JHE K23 6,880 7,080 A200
201 et 3| 5,080 5,080 0
01 AlR22IH| 5,080 5,080 0
OBYHHIIAE HHSY
70,00024+7 % +23] 980
OZLEBAAE Faia
50,0008 x7H 23] 700
OJl=XE2f8s g4
70,0003 * 102 #22] 1,400
OJIlsXtE2R3 3l 4]
50,0003 * 10 *22] 1,000
OZAHEEZ JHE K& AtR2tel]
1,000,000 1,000
202 048l 1,800 2,000 A200
01 2L AL 1,800 2,000 2200
O=LHO4HI 1,800,000 1,800
‘:/\lﬁli)' (AZ22-1765 4 ) HESAHGI= S XS XS 60,000 0 60,000
2 g
= 30,000
Al 30,000
401 Al HIZL 01| 60,000 0 60,000
= 30,000
Al 30,000
01 Al&H| 60,000 0 60,000
OZAAEZ2(AR22-1765H) HESAL
60,000,000 60,000
= 30,000
Al 30,000
SANAHEEZ2(AZ3-1BSH) HEZAHOOITIA~E X 200,000 0 200,000
SHHFIIE)
401 Al HIZL 201 200,000 200,000
01 Al&H| 200,000 200,000
OZAAEZZ2(AR3-1BSH) HEZA
200,000,000& 200,000
CAHBCZ(SZ23-135 M) IHESAHKCCOHIHE L) 800,000 100,000 700,000
401 AIZHIX S0 800,000 100,000 700,000
01 A28l 800,000 100,000 700,000
OZAHEE2(Z23-1354) HESA
800,000,000 800,000




S AL
M NG F2 L2EH FR(NSHER/E2)
el ZAIHEEZ OHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
_‘.:_/\|34|§\)'_'.:_§(§§3—35§ﬁ) HESAHB=SS WS 200,000 400,000 A.200,000
A £
401 Al HIZ S 0HbI 200,000 400,000 A.200,000
01 Al&H| 200,000 400,000 200,000
OZAHEZ2(E23-BaH) HESA
200,000,000 200,000
I0ITE TAIHEEZ HESA 100,000 150,000 50,000
401 AIEHIZ SR THYI 100,000 150,000 50,000
01 Al&HI 100,000 150,000 250,000
OZANAHEEZ ZH o 22l
100,000,000 100,000
F=UHH ABE2Y A= 100,000 800,000 A700,000
HEXIA JIBAIL X (SZ20Z R A ofier2t2E2 100,000 800,000 A700,000
)
401 AIEHIX SO 100,000 800,000 /700,000
01 AlZH| 100,000 800,000 700,000
Oz 22X HH oot =2 offatd
LIEE 100,000,000 100,000
HAE TADHZS ?Iet =& Xl ZHIA 551,251 0 551,251
T2 OIMANY 551,251 0 551,251
401 AIEHIZ SR 0HYI 551,251 0 551,251
01 Al&HI 551,251 0 551,251
OZ2U AEE ZAHSA
20,000,000 20,000
O&IH 2% JIx=N=Z LIcHSF3At
180,000,000 180,000
Ot =2 =1 &g
171,250,950 171,251
OSEUA SHAIH TIHE RS A
180,000,000 180,000
ANE =AM RFT(ALD) 2,500 13,000 210,500
NEAIY HRF2(SS)(AL ) 1,500 1,000 500
203 HE=H] 1,500 1,000 500
03 A= PR F&IH| 1,500 1,000 500
OAEAY HRFT(3S)
1,500,000 1,500
ANZAIY HRFE(2AN)(ALD) 1,000 12,000 211,000
203 =] 1,000 12,000 211,000
03 A=A 2= 1,000 12,000 A11,000
OAIZAY HREE(RA)
1,000,000 1,000
OrMEE X=X THOHHR Z2l(REXXSINL/=XH) 2,714,236 1,672,380 1,041,856
== 40,000
Al 2,674,236
XHoH off & 196,800 285,500 /88,700




SA AL

Hu: ormBt X4 U HTIH 22l (REXIGNL/ATR)

Ch2: THOHOI EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XHoH 0l & ==& 196,800 285,500 /88,700

201 er23 | 96,800 85,500 11,300
01 At2teltl 10,000 0 10,000
OEZXHY(SF)XE IR
10,000,000 10,000
02 S3=gHl 86,800 85,500 1,300
O=2&eIxtz KR ¥ S ZelH(8E,
0=, |US) 40,000,000& 40,000
OZH 01 =74l & FAl2cldl
5,000,000 +2CH 10,000
ON&ZHIRAEs 22,500,000& 22,500
Ooxg=Eg= 1,300,000 = 11CH 14,300
206 M=l 100,000 200,000 100,000
01 M= HI 100,000 200,000 100,000
OMESH (S22, Jatds)
100,000,000 100,000
NAIBAIE Y ot - Aotd EHI 2,517,436 1,386,880 1,130,556
= 40,000
Al 2,477,436
HEHZEEZ(HEEE) W ARX B4 300,000 300,000
401 AlEHIY S CHYI 300,000 300,000
01 A28l 300,000 300,000
Okl &=0ts HYEX Ba(-8s 166
Xl 200,000,000 200,000
OaEE HYEX BH(E2S 3232, 3233
Xl) 100,000,000 100,000
4G FHIAI (HEALY) 1,931,906 1,931,906
201 er23 | 16,700 16,700
01 At2teltl 16,700 16,700
Ozaotd2e|?lEs 28+<
70,0002 %10 700
Odtd - ~otd 2HEI ==&
2,000,000& 2,000
Opotd - aotd 2g=+ 4l Xt
10,000,000& 10,000
Ootd - A0t 285E ==
3,000,000 3,000
Odtd - ~otd 27 Ol S|+==+8
1,000,000& 1,000
401 Al HIZL S 0HYI 1,915,206 1,915,206
01 Al&HI 1,915,206 1,915,206
OZ4otd &l XZ0l2FA
1,915,206,000& 1,915,206
RrasS AdES SHIAMY 80,000 0 80,000
= 40,000




SA AL
B OB X4 U TN Bal(RELX AN /=T
Sl XISD|ERAIE 2 51 - ASHE HH| (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 40,000
401 AIEHIX 20 80,000 0 80,000
=S 40,000
Al 40,000
01 AlZ8| 80,000 0 80,000
OR+=4S XNE= EHIA
80,000,000 80,000
< 40,000
Al 40,000
KSIEAIE EHI 190,500 254,000 263,500
201 Let=23 | 9,000 3,000 6.000
01 AtR2te|Hl 9,000 3,000 6,000
OXNSIIEAE ZBHEI ==
2,000,000 2,000
OXISIIEtAIE 2Ig8S 73| Xt
3,000,000 3,000
OXIIPAIL 2eEer +42
3,000,000& 3,000
OXNGIIEAE 2720IE S)=+8
1,000,000& 1,000
202 04| 1,500 2,000 A500
01 =LHOLI 1,500 2,000 A500
O=LH04HI 1,500,000 1,500
401 AlEHIZL SO 180,000 249,000 269,000
01 Al&H| 180,000 249,000 69,000
O=FDIAQJALE X2l (8HS)
80,000,000& 80,000
OKCCAPH~ZATI|E 2t &2 & - ZHSA
100,000,000 100,000
ot& - AGtE FHl 15,030 1,032,880 A1,017,850
201 =3 7,680 11,380 A3,700
01 At22t2lt] 6,000 9,700 A3,700
OHAFX HIEI} ==
6,000,000 6,000
2 s5=34l 1,680 1,680 0
OF = NSHHAIAY MRS
10,0003 * 122 120
O =R NSAUUHAIAH SRS
130,000 »12& 1,560
202 04| 1,350 1,500 A150
01 SLHoIH 1,350 1,500 A150
O=LH04HI 1,350,000& 1,350
401 AlEHIZ R0 6.000 1,020,000 21,014,000
01 Al&H| 6,000 1,020,000 A1,014,000
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